SIGNATURE PAGE

RFQ# F-23-2023

To the Board of County Commissioners of the County of Monmouth:

THE UNDERSIGNED HEREBY DECLARES THAT I (WE) HAVE CAREFULLY EXAMINED THE SPECIFICATIONS. I (WE) HEREBY CERTIFY PRICES QUOTED ARE IN ACCORDANCE WITH YOUR REQUIREMENTS.

Company Name:	JUPGRIAL DADE
	(PRINT)
Preparer's Name:	DAN SHIELDS
Signature	
Address:	255 POLITE 1+9
	JORSEY CITY IJ OTSOL
Telephone No.:	201-437-1440
Fax No.:	201-437-7442
E-Mail Address:	DSHIELDS @ INPERTALDIADE.COM
•	***(This should be the email where Contracts would be sent)***
Contact Person:	DAN SHIGHS
FEIN:	
(Federal Employee ID)	

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-23-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

RFB	must be rece	ived no later than: October 19, 2	2022 10:30AM		
For [Delivery to:	Various Delivery Locations. See Details Belo	ow.		
Delivery Date:		1/1/2023-12/31/2023			-
		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
CLEA	ŅERS, DRAIN	OPENERS, STAIN REMOVERS. ALL ITEMS MU	ST BE FRAGRANCE FREE		
1	ALL PURPOS SPRAYER 32 OZ.	SE CLEANER, BOTTLE WITH ATTACHED	9,240 OZ	0.1075	993.30
	Packaging: MFG/Brand Product No Variances,	SC JOHNSON FANTASTIK32			
2	ALL PURPOS 64 OZ.	SE CLEANER, REFILL - NO SPRAYER	3,840 OZ	1021929	218.77
	Packaging: MFG/Brand Product No Variances,	SC JOHNSON FANLOGL	·	<u> </u>	
3	TOILET BOW 24 OZ.	/L CLEANER, PLASTIC BOTTLE	40,320 OZ	.058252_	2348.85
	Packaging: MFG/Brand Product No Variances,	SPARTIAN NARC		L	
4		EQUIVALENT) GLASS CLEANER WITH - PLASTIC BOTTLE WITH ATTACHED	95,496 OZ	, 0835156	7975.41
	Packaging: MFG/Brand Product No Variances,	FOOOTH BAY	 		

REQUEST FOR BID

----- This Is Not An Order -----



RFB# F-23-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
5	FOAM GLASS CLEANER, AEROSOL CANS 20 OZ.	200 OZ	.1387719	27.75
-	Packaging: 12 - 19 02 MFG/Brand: VICTORIA BAY Product No: ISSLASS19 Variances, if any:			
6	HEAVY DUTY CLEANER AND DEGREASER 1 GAL.	140 GAL(S)	63875	844.25
	Packaging: 4 - 128 02 MFG/Brand: VICTOLIA BAY Product No: DOOG 8 Variances, if any:		<u> </u>	
7	MULTIPURPOSE CLEANER - NON AEROSOL 32 OZ.	13,824 OZ	.1075	l486.08
	Packaging: 3 - 32 02 MFG/Brand: 5C JCHNSON Product No: FANTASTIK32 Variances, if any:			
8	ALL PURPOSE POWDER CLEANSER, LEMON, - PLASTIC CONTAINERS ONLY 17 OZ.	5,712 OZ		
	Packaging: MFG/Brand: Product No: Variances, if any:			
9	KAIBOSH DISINFECTANT (OR EQUIVALENT) ALL PURPOSE AND GLASS DISINFECTANT (LIQUID), PLASTIC BOTTLE WITH ATTACHED SPRAYER, DILUTION RATE 2 OZ / 1 GALLON 32 OZ.	43,200 OZ	, (67S	4644.00
	Packaging: 8 - 32 oz MFG/Brand: SC JOHNSON Product No: FANTIASTIK32 Variances, if any:			

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-23-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
10	DRAIN OPENER, PROFESSIONAL STRENGTH 64 OZ.	11,520 OZ	.09625	૦૬.૬૦૧૧
	Packaging: 12 - 32 02 MFG/Brand: VICTORIA BAY Product No: KOOIZU Variances, if any:			
11	NON-CAUSTIC DRAIN OPENER/CLEANER 64 OZ.	11,520 OZ		
	Packaging: MFG/Brand: Product No: Variances, if any:			
12	BLEACH 1 GAL.	660 GAL(S)	3.555	2346.30
	Packaging: 6 - 128 02 MFG/Brand: VICTOPIA BAY Product No: GLBLOACH Variances, if any:			
13	STAIN & ODOR REMOVER 20 OZ.	3,600 OZ		
	Packaging: MFG/Brand: Product No: Variances, if any:	 		
14	LIQUID DISH WASHING DETERGENT 64 OZ.	3,072 OZ	, 0309 179	94.98
	Packaging: 4 - 128 6Z MFG/Brand: ビュヒュンで作れてコンツルト Product No: 1Hヒレステハ Variances, if any:			
15	FURNITURE POLISH, NO LEMON OIL 19 OZ.	2,250 OZ		

RFB# F-23-2023

County of Monmouth

REQUEST FOR BID

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:		
16	ALUMINUM & STAINLESS STEEL CLEANER 17 OZ.	1,224 OZ	.2548437 311.93
	Packaging: MFG/Brand: Product No: Variances, if any:		<u></u>
17	STAINLESS STEEL CLEANER/POLISH 16 OZ	1,536 OZ	.2548437 391,44
	Packaging: 12 - 16 02 MFG/Brand: C-4712 MANUFACTULTING Product No: AMCCL SH 1 Variances, if any:		
18	MULTI SURFACE CLEANER 40 OZ.	51,200 OZ	.0484179 2478.99
	Packaging: 4 - 128 02 MFG/Brand: VICTOFIA BAY Product No: COOIGS Variances, if any:		
SOAP	S - PERSONAL USE - ALL ITEMS MUST BE FRAGRANCE FREE		
19	PERSONAL SIZE BAR SOAP 3.5 OZ.	805 OZ	.2304211 185.49
	Packaging: 72 - 3.1 o2 MFG/Brand: Photograph + GHHBLE Product No: TW3 Variances, if any:		•
20	HAND CLEANER 14 OZ.	2,520 OZ	

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-23-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

!TEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:			
21	HAND CLEANER 72 OZ.	4,320 OZ		
	Packaging: MFG/Brand: Product No: Variances, if any:		<u> </u>	·
22	POWDERED HAND SOAP 12 OZ.	5,760 OZ		
	Packaging: MFG/Brand: Product No: Variances, if any:			
DISPE	NSERS AND REFILLS - SOAPS AND SANITIZERS - ALL IT	TEMS MUST BE FRAGRANCE FREI		
23	LOTION CLEANER REFILL, SANI-FRESH 800 ML.	1,152,000 ML(S)	.02075	23904.00
	Packaging: 2 - 1200 ML MFG/Brand: G030 Product No: Purell 777202 Variances, if any:			
24	SANI-FRESH DISPENSERS	72 EACH	FREE	FREE
	Packaging: MFG/Brand: Product No: Variances, if any:	· · · · · · · · · · · · · · · · · · ·		
28	BACTERIOSTATIC LOTION HAND SOAP 1 GAL	120 GAL(S)	7.8425	941.10

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-23-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: — MFG/Brand: — Product No: — Variances, if any	4 - 128 02 VICTORIA BAY LOS441			
31	HONEY ALMOND 1 GAL	LIQUID HAND SOAP	100 GAL(S)	6.5675	656.75
	Packaging: — MFG/Brand: — Product No: — Variances, if any	4 - 128 02 VICTOLIA BAY LOOD&7		<u> </u>	
32		JLTRA MILD SOAP WITHOUT NATURAL BASED	48,000 ML(S)		
I OT	Variances, if any				
SLOT 33		ET TISSUE, DISPENSERS AND RAGS	1,750 LB(S)	2.289	, 3949.80
	HS, TOWELS, TOLII WIPING RAGS, 10	ET TISSUE, DISPENSERS AND RAGS 0% COTTON 25 LB BALL THOSING WHTRDAYZS	* * * * * * * * * * * * * * * * * * * *		, 3944.80
	HS, TOWELS, TOLIII WIPING RAGS, 10 100 LBS. Packaging: — MFG/Brand: — Product No: — Variances, if any	ET TISSUE, DISPENSERS AND RAGS 0% COTTON 25 LB BALL THASING WHTEREYZS 0 WIPING RAGS, 100% COTTON ONLY	* * * * * * * * * * * * * * * * * * * *		
33	HS, TOWELS, TOLIII WIPING RAGS, 10 100 LBS. Packaging: — MFG/Brand: — Product No: — Variances, if any	ET TISSUE, DISPENSERS AND RAGS 0% COTTON 25 LB BALL THASING WHTEDRYZS 0 WIPING RAGS, 100% COTTON ONLY 25 LB AMERICAN WASTE + TEXTILE TROZPAG	1,750 LB(S)	2.2882	<u> </u>

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-23-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if ar	500 MERCANTILE DEVELOPMENT 2424 CLOTH 1y:			
37	CORRECTIONAL	SSUE, WHITE LL *THIS ITEM MUST BE APPROVED FOR USE IN A INSTITUTION - PLEASE INCLUDE A PRODUCT MPLES MAY BE REQUESTED. (A) - SOO SHEE PESCLUTE TISSUE	80,148 ROLL(S)	.4444741	3431.51
	Product No: Variances, if a	500TT ny:			
38	DISPENSER FO	R TOILET TISSUE TO FIT ABOVE ITEM	50 EACH	6.69	334.50
	Packaging: MFG/Brand: Product No: Variances, if a	1 JANICO 57220CAS ny:		<u> </u>	
39	CORRECTIONAL	ROLL *THIS ITEM MUST BE APPROVED FOR USE IN A INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC S MAY BE REQUESTED. 96 - 1000 SHEETS PESOLUTE TISSUE	19,200 ROLL(S)	. 5846875	11226.6C
40	2 PLY JUMBO R 1000 FT /ROLL	OLL TÖILET TISSUE	1,500,000 FT	,0030541	4588.65
	Packaging: MFG/Brand: Product No: Variances, if a	12 - 1000 FT NITTANY PAPER NPSZIE		<u> </u>	
41	DISPENSERS TO	O FIT JUMBO TOILET TISSUE ROLLS	50 EACH	15.72	786.00

REQUEST FOR BID

---- This Is Not An Order -----



RFB# F-23-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:			
43	ECOSOFT GREEN SEAL FOLDED TOWELS, NATURAL WHITE, 9.125" X 9.5", 4000 SHEETS	500,000 SHEET(S)	,യ7୯୭,	3825.∞
	Packaging: 4000 MFG/Brand: VICTOFIA BAY Product No: 101759 Variances, if any:			
44	BAY WEST DISPENSER TO FIT PLY FOLD AND ECOSOFT GREEN SEAL FOLDED TOWELS	24 EACH		
	Packaging: MFG/Brand: Product No: Variances, if any:			
45	ROLL TOWELS, WHITE, ABSORBENCY RATE 13 SCC PER .1CC WATER, MUST FIT BAY WEST DISPENSERS 630 FT/ROLL	347,760 FT		
	Packaging: MFG/Brand: Product No: Variances, if any:			
46	ECOSOFTGREEN SEAL ROLL TOWELS, NATURAL WHITE 350 FT/ROLL	6,120,000 FT	00 KJ00.	38457.59
	Packaging: 12 - 350 FT MFG/Brand: VICTORTA BAY Product No: 1809 Variances, if any:			
47	BAY WEST LEVER ROLL TOWEL DISPENSER , TO FIT ITEMS 45 & 46	24 EACH		

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-23-2023

Monmouth County Purchasing
Hall of Records, 3rd Floor
1 East Main Street
Freehold, NJ 07728
(732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	. DI	ESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
,	Packaging: MFG/Brand: Product No: Variances, if any:				
48	C-FOLD PAPER TOWELS,W ABSORBENCY RATE 80-120 ON 1 PLY, 100% RECYCLED 200SHEETS/PK	SEC TESTED WITH 0.1 ML	558,667 SHEET(S)		
	Packaging: ————————————————————————————————————		* THIS ITEM MUST BE APPROVED CORRECTIONAL INSTITUTION - PI A PRODUCT SPEC SHEET. SAMPL REQUESTED.	LEASE INCLUDE	
49	ROLL TOWEL DISPENSER		50 EACH	39.12	1956.00
	Product No: 5433 Variances, if any:				
FLOO	R AND CARPET CARE - ALL	ITEMS MUST BE FRAGRANCE F	REE		Section 5.
51	FLOOR SWEEPING COMPC 75 LBS./DRUM	OUND, WAX BASE	150 LB(S)	,3315714	4974
	Packaging: 70 LB MFG/Brand: BANNE Product No: GRIM Variances, if any:	R CHEUICAL STI	 		
52	FLOOR WAX 55 GALS./DRUM		110 GAL(S)		
	Packaging: MFG/Brand: Product No: Variances, if any:	·	 		
53	DEWAXER 55 GALS./DRUM		110 GAL(S)		

REQUEST FOR BID

---- This Is Not An Order -----



RFB# F-23-2023

Monmouth County Purchasing
Hall of Records, 3rd Floor
1 East Main Street
Freehold, NJ 07728
(732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	*	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:		- - -		
54	HEAVY DUTY RUG EXTRACTION MACI 64 OZ. Packaging: MFG/Brand: Product No:	SHAMPOO FOR WATER HINES 4 - 128 07 SPARTIAN 300504	4,096 OZ 	. 0846cA3	346.56
55	Variances, if any: SPRAY BUFF 1 GAL.		30 GAL(S)	5955	178.65
	Packaging: MFG/Brand: Product No: Variances, if any:	6 - 128 OZ AMERICAN CLEANING 15301	 		
56	DEFOAMER 1 GAL.		30 GAL(S)	11:3475	3 41.93
	Packaging: —— MFG/Brand: —— Product No: —— Variances, if any:	4 - 128 02 BULLEN CHEMICAL CFHOME (L	i
57	CHEM-TEK (OR EQ NON-CONCENTRA 55 GALLON DRUM	·	16 DRUM(S)	342.15	5474,40
	Packaging: —— MFG/Brand: —— Product No: —— Variances, if any:	SS GAL VICTORIA RAY CESHOCKSS	- - - -		
58	CHEM-TEK (OR EQ NON-CONCENTRA 55 GALLON DRUM	UIVALENT) FLOOR FINISHER/WAX, IE READY TO USE	20 DRUM(S)	587.23	11744.60

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-23-2023

Monmouth County Purchasing
Hall of Records, 3rd Floor
1 East Main Street
Freehold, NJ 07728
(732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: 55 GAL MFG/Brand: VICTORTA DAY Product No: OCCFSUPOL55 Variances, if any:			
59	NEUTRA CLEAN BY CHEM-TEK (OR EQUIVALENT) FLOOR CLEANER, NON-CONCENTRATE READY TO USE 55 GALLON DRUM	15 DRUM(S)		
	Packaging: MFG/Brand: Product No: Variances, if any:			
60	SCOLES X-FACTOR FLOOR FINISH OR EQUIVALENT 5 GAL/PAIL	100 GAL(S)	14:376	1437.60
	Packaging: MFG/Brand: Product No: Variances, if any:			
61	SCOLES LIFT OFF FLOOR FINISHER OR EQUIVALENT 5 GAL/PAIL	100 GAL(S)	14.376	1437.60
	Packaging: 5 GM MFG/Brand: VICTORIA BAY Product No: CFMIRLORS Variances, if any:			I
62	SCOLES BLUE CONCENTRATE, HEAVY DUTY NO RINSE CLEANER OR EQUIVALENT 5 GAL/PAIL	50 GAL(S)		
	Packaging: MFG/Brand: Product No: Variances, if any:			
63	SCOLES GREEN CLEAN OR EQUIVALENT 1 GAL	50 GAL(S)		

RFB# F-23-2023

County of Monmouth

REQUEST FOR BID

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:	- · · · · · · · · · · · · · · · · · · ·		
FLOO	R PADS: STRIPPING, BUFFING, BURNISHING, CLEANING		Try ov M	
64	BUFFER PAD, AC, WHITE, 20" DIAMETER FOR ADVANCE FLOOR MACHINE 5 PADS/CASE	10 PAD(S)	2.47	74.70
	Packaging: 5 MFG/Brand: VICTORIA BAY Product No: V320W5PF Variances, if any:	_ ; 		
65	BUFFER PAD, AC, BLACK, 20" DIAMETER FOR ADVANCE FLOOR MACHINE 5 PADS/CASE	10 PAD(S)	247	24.70
	Packaging: MFG/Brand: Product No: Variances, if any:	- -		
66	BUFFER PAD, AC, RED, 20" DIAMETER FOR ADVANCE FLOOR MACHINE 5 PADS/CASE	10 PAD(S)	2.47	24.70
	Packaging: MFG/Brand: Product No: Variances, if any:	 		
67	SUPER STRIPPING PAD, BLACK, 20" DIAMETER, BURGUNDY	50 PAD(S)	2,47	123,50
	Packaging: MFG/Brand: Product No: VB20B5TP Variances, if any:	 		
68	LIGHT QUICK STRIP STRIPPING PADS, 20" DIAMETER, GREEN 5/CASE	100 PAD(S)	2.47	247.00

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-23-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: 5 MFG/Brand: VICTORILA RAY Product No: VIS 2003P Variances, if any:			
69	NATURAL HAIR BURNISHING PAD, 20" DIAMETER FOR ADVANCED FLOOR MACHINE 5 PADS/CASE	20 PAD(S)	247	49.40
	Packaging: 5 MFG/Brand: VICTORIA BAY Product No: VB20NTBP Variances, if any:			
70	HEAVY BURNISHING PAD, 20" DIAMETER, BLACK 5 PADS/CASE * THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.	100 PAD(S)	2.47	247.00
	Packaging: MFG/Brand: Product No: VB20BSTP Variances, if any:			
71 .	LIGHT BURNISHING PAD, 20" DIAMETER, WHITE 5 PADS/CASE * THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.	110 PAD(S)	2.47	271.70
	Packaging: MFG/Brand: Product No: VB20VSPP Variances, if any:			
72	SURFACE PREPARATION PAD, 14" X 20", MAROON 5 PADS/CASE * THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.	100 PAD(S)	6512	651.20
	Packaging: MFG/Brand: Product No: Variances, if any:			
73	SCRUBBING PAD, 14" X 20", RED 5 PADS/CASE * THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.	60 PAD(S)	4.007	240.42

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-23-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: — MFG/Brand: — Product No: — Variances, if any	VICTORIA BAY VB2014RDFP			
	SWIVEL PAD, SUF 5 PADS/BAG	PER DUTY, BLACK, 4.5" X 10"	100 PAD(S)	2.708	270.80
	Packaging: — MFG/Brand: — Product No: — Variances, if any	40 3:11 3M&550	 	L	
75	SWIVEL PAD THR	EADED HOLDER	10 EACH	83.3	66.80
	Packaging: — MFG/Brand: — Product No: — Variances, if any	ACS INDUSTRIES CFDCODLEKIT	_ _ _ _		
76	TURF PAD, 14" X 2	20" GREEN FOR TILE AND GROUT	160 PAD(S)	4.007	641.12
	Packaging: — MFG/Brand: — Product No: — Variances, if any	UICTORIA BAY UBZOIYGSP	 		L
LEÁNI	ING AIDS: BRUSH	ES, BROOMS, MOPS, BUCKETS, PLUNGE	RS, DUSTERS, SQUEEGEES, S	SPONGES, LITTER S	TICKS
77 E	BOWL BRUSH, WO	DODEN HANDLE	72 EACH	2.46	213.12
	Packaging: — MFG/Brand: — Product No: — Variances, if any	NEXSTEP 4533BR			
		JSH, ONE PIECE, SYNTHETIC , PLASTIC HANDLE ONLY	40 EACH	1.34	53.60

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-23-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

FURNISH AND DELIVER JANITORIAL AND PAPER SUPPLIES FOR VARIOUS COUNTY DEPARTMENTS FOR THE PERIOD JANUARY 1, 2023 THROUGH DECEMBER 31, 2023

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:			
79	POT BRUSH, HEAVY DUTY WITH HANDLE WITH FOAM BLOCK	25 EACH		
	Packaging: MFG/Brand: Product No: Variances, if any:	 		
80	12" DECK BRUSH WITH HANDLE AND FOAM BLOCK	24 EACH	,	
	Packaging: MFG/Brand: Product No: Variances, if any:	_	<u> </u>	
81	DECK BRUSH HEAD- 10" FOAM BLOCK WITH THREADED HANDLE HOLE - SPLIT BRUSH SHAPE, STRAIGHT AND ANGLED MULTILEVEL BRISTLES, LONG LASTING BLUE POLYPROPYLENE FIBERS, STAIN RESISTANT	84 EACH		
	Packaging: MFG/Brand: Product No: Variances, if any:	* THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.		
82	8" LONG COUNTER BRUSH WITH HANDLE, PLASTIC HORSEHAIR BLEND, 2.13" BRISTLE TRIM	25 EACH	2.96	74.00
	Packaging: MFG/Brand: Product No: Variances, if any:	· - - -		
83	DUST BRUSH, BLACK POLYPROPYLENE BRISTLE, 8" FACE WITH 4" HANDLE, ALL ONE PIECE PLASTIC AND A HANGING HOLE ON THE HANDLE * THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET	60 EACH		

SAMPLES MAY BE REQUESTED.

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-23-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

, Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:			
84	12" TOILET BOWL MOP, PLASTIC HANDLE	100 EACH	(.07	107.00
	Packaging: MFG/Brand: Product No: Variances, if any:			
85	PLUNGERS, TOILET, LARGE	10 EACH	4,19	41.20
	Packaging: MFG/Brand: Product No: Variances, if any:	· · · · · · · · · · · · · · · · · · ·		
86	17" TOILET PLUNGER - ALL PLASTIC HANDLE WITH RUBBER END, BLACK, LARGE CUP SIZE - THREADED HANDLE	10 EACH		
	Packaging: MFG/Brand: Product No: Variances, if any:			
87	16" HEAVY DUTY STREET BROOM WITH HANDLE, 5 ROWS NATURAL BASS FIBER, 6-1/4" TRIM	10 EACH		
	Packaging: MFG/Brand: Product No: Variances, if any:			
88	24" GARAGE SWEEPER WITH HANDLE	48 EACH		

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-23-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:	- - -		
89	#8 CORN BROOM	36 EACH	3.3 (119.10
	Packaging: MFG/Brand: Product No: Variances, if any:	- - -		·
90	14" ANGLE BROOM, 100% POLY PROPYLENE ONLY	15 EACH	6.85	102.75
	Packaging: MFG/Brand: Product No: Variances, if any:	- - -		
91	18" HEAVY DUTY STREET BROOM HEAD, FOAM PLASTIC BLOCK WITH 2 THREADED HANDLE HOLES, COURSE BLACK POLYPROPYLENE BRISTLES	12 EACH		
	Packaging: MFG/Brand: Product No: Variances, if any:	- - -		
92	LOBBY BROOM, BRISTLE - POLYPROPYLENE FILL, 7.5" L X 2" W X 35" H, BLACK	25 EACH	4.53	113.25
	Packaging: MFG/Brand: Product No: Variances, if any:	- - -		
93	12" HEAVY DUTY DUST PAN, 20 GAUGE STEEL, BEVELED EDGE	24 EACH	6.19	148.56

REQUEST FOR BID

---- This Is Not An Order -----



RFB# F-23-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:			
94	DUST PAN WITH UPRIGHT 30" LONG HANDLE AND 12" WIDE DUST BIN	12 EACH	9.45	119.40
	Packaging: MFG/Brand: Product No: Variances, if any:			
95	12" DUST PAN, HAND HELD, ALL PLASTIC WITH NO METAL, WITH HANDLE HOLE	12 EACH	2.94	35.28
	Packaging: MFG/Brand: Product No: Variances, if any:	· · · · · · · · · · · · · · · · · · ·		
96	24" PUSH BROOM HEAD, FINE/MEDIUM BLACK POLYPROPYLENE BRISTLES, STRUCTURAL FOAM PLASTIC BLOCK, 2 THREADED HANDLE HOLES	96 EACH		
	Packaging: MFG/Brand: Product No: Variances, if any:	* THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.		
97	60" WOOD BROOM HANDLES,1-1/8" DIAMETER, TAPERED	48 EACH	3.61	173.28
	Packaging: MFG/Brand: Product No: Variances, if any:		-	
98	60" BROOM HANDLES, METAL THREAD, PUSH BROOM THREADED	24 EACH	3.27	78.48

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-23-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:			
99	24" DUSTLESS MOPS, COMPLETE	12 EACH		
	Packaging: MFG/Brand: Product No: Variances, if any:	· · · · · · · · · · · · · · · · · · ·	L	
102	DUSTLESS MOP REPLACEMENT HEADS, SYNTHETIC GREEN, OPEN LOOP, LINT F			
	Packaging: MFG/Brand: Product No: Variances, if any:	* THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.		- L
103	DUSTLESS MOP FRAME, 36" X 5" METAL FRAME, RUST RESISTANT AND POWDEF PAINTED WITH SWIVEL SNAP-TO HANDL	RCOAT	3.86	38.60
	Packaging: MFG/Brand: Product No: Variances, if any:			
104	60" THREADED HANDLE - 1" DIAMETER, 'FIBERGLASS, MESH-VEILED TO PREVEN SPLINTERING WITH SUPER TOUGH BLACE PLASTIC STANDARD THREAD END	Т	11.11	1066.56
	Packaging: MFG/Brand: Product No: Variances, if any:	* THIS ITEM MUST BE APPROVE FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.	Ē.	
105	60" MOP HANDLE, 1" DIAMETER, FIBERG STYLE, QUICK CHANGE, HIGH IMPACT PI (SNAP-N-GO)		9.16	531.28

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-23-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

!TEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:			
106	MOP HEADS, 24 OZ., 8 PLY, RAYON, CLOSED LOOP	150 EACH	4.03	604-20
	Packaging: MFG/Brand: Product No: Variances, if any:			
107	MOP HANDLES FOR 24 OZ. MOP HEAD, WHITE	24 EACH	7.14	171.36
	Packaging: MFG/Brand: Product No: Variances, if any:			
108	MOP HEADS, 20 OZ. 4 PLY RAYON, CLOSED LOOP * THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.	1,992 EACH		
	Packaging: MFG/Brand: Product No: Variances, if any:			
112	60"	12 EACH	7.2225	8667
	Packaging: 12 MFG/Brand: LAWBYLIN STEC Product No: 340EXS Variances, if any:			
113	PLASTIC POLYWOOL DUSTER - BRIGHT, MULTICOLOR SYNTHETIC, FLEXIBLE POSITIONING HEAD, TELESCOPIC HANDLE	10 EACH		

RFB# F-23-2023

County of Monmouth

REQUEST FOR BID

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

FURNISH AND DELIVER JANITORIAL AND PAPER SUPPLIES FOR VARIOUS COUNTY DEPARTMENTS FOR THE PERIOD JANUARY 1, 2023 THROUGH DECEMBER 31, 2023

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:			
115	MOP BUCKET, 3" CASTERS, 26 QT.	20 EACH	77.34	1546.80
	Packaging: MFG/Brand: Product No: Variances, if any:			
116	MOP BUCKET, 14 QT.	20 EACH	6.73	134.60
	Packaging: MFG/Brand: Product No: Variances, if any:			
117	DOWNWARD PRESSURE WRINGERS FOR 26 QT. BUCKET	10 EACH	59.84	598.40
	Packaging: MFG/Brand: Product No: Variances, if any:		<u> </u>	
118	24" PUSH AND PULL SQUEEGEE	12 EACH		
	Packaging: MFG/Brand: Product No: Variances, if any:		L	<u> </u>
119	8" BLACK RUBBER SQUEEGEE BLADE WITH ALL PLASTIC 20" HANDLE AND 8" SYNTHETIC SPONGE IN NYLON MESH FOR DURABILITY AND ABRASIVE SCRUBBING, TOOL MUST BE ALL PLASTIC NO METAL AND NO SCREWS * THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL	12 EACH	5.68	wi.80

MAY BE REQUESTED.

REQUEST FOR BID

---- This Is Not An Order -----



RFB# F-23-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Product No. 1985			
	Product No: 1385> Variances, if any:			
120	CARLISLE P/N 3656703 (OR EQUIVALENT) 20" FLOOR SQUEEGEE HEAD, ALL PLASTIC, SOLID ONE PIECE WITH THREADED END FOR HANDLE	84 EACH	20.16	1693.44
	Packaging: MFG/Brand: Product No: Variances, if any:			
121	6 GALLON WINDOW CLEANING BUCKET TO ACCOMMODATE 18" WASHERS AND SQUEEGEES	4 EACH	પ ૄ. હવ	170.76
	Packaging: MFG/Brand: Product No: Variances, if any:		1	
122	13' TELESCOPING POLE - 2-SECTIONS	4 EACH	53.63	212.12
	Packaging: MFG/Brand: Product No: Variances, if any:			
123	SQUEEGEE WITH 18" STRIP WASHER	4 EACH	47.25	134.00
	Packaging: MFG/Brand: Product No: Variances, if any:			
124	STAINLESS STEEL SQUEEGE HANDLE WITH RUBBER GRIP	4 EACH		

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-23-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:			
125	18" STAINLESS STEEL SQUEEGEE	4 EACH	25.51	102.04
	Packaging: MFG/Brand: Product No: Variances, if any:			
126	SPONGES, 4" X 6" X 2"	192 EACH	1.5625	320.00
	Packaging: 24 MFG/Brand: ACS INDUSTRIES Product No: Variances, if any:			
127	SCRUBBER SPONGES, SCRUBBER ON ONE SIDE AND SPONGE ON OTHER, 3" X 6"* THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.	20 EACH	,S35	11.27
	Packaging: MFG/Brand: Product No: VICTORIA BAY Product No: Variances, if any:			
128	MAGIC ERASER BATHROOM SCRUBBER,4-1/2" X 3-1/5" 2 EA/BOX	20 EACH		
	Packaging: MFG/Brand: Product No: Variances, if any:			<u> </u>
129	SCOURING PADS, HEAVY DUTY, 6" X 3.85"	20 PAD(S)	.2015	4.03

REQUEST FOR BID

---- This Is Not An Order -----



RFB# F-23-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	!	DESCRIPTION	QUANTITY/UNIȚ		UNIT PRICE	TOTAL PRICE
	Packaging: — MFG/Brand: — Product No: — Variances, if any:	VICTORIA BAY VB96MSP	- - -			
130	ALUMINUM LITTER	R STICKS, 36"	50 EACH		ક્ય.કૃ	934.00
	Packaging: — MFG/Brand: — Product No: — Variances, if any:	TTORE PLODUCTS 49036	 			
132	NIFTYNABBER GR	ABBER, 36" REACH	86 EACH		82.81	1606.48
	Packaging: — MFG/Brand: — Product No: — Variances, if any:	ECTORE PRODUCTS 49036	- - -	_		
133	NIFTYNABBER GR	ABBER, 51" HANDLE	15 EACH			
	Packaging: — MFG/Brand: — Product No: — Variances, if any:		- - -	L	1	
ÌNȘEC	CT PESTICIDES AND	RELATED ITEMS				
134	ROACH AND ANT I 20 OZ.	KILLER	2,880 OZ			
	Packaging: — MFG/Brand: — Product No: — Variances, if any:		- - - -	<u>. </u>		
135	HOUSE AND GARD & HORNETS 20 OZ.	DEN SPRAY, MUST INCLUDE WASPS	4,080 OZ			

RFB# F-23-2023

County of Monmouth

REQUEST FOR BID

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:	· ·		
136	FLYING INSECT SPRAY 20 OZ.	3,060 OZ		
	Packaging: MFG/Brand: Product No: Variances, if any:	• • . •		
PERS	ONAL HYGIENE ITEMS			
137	PAPER TOILET SEAT COVERS * THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.	90 EACH		
	Packaging: MFG/Brand: Product No: Variances, if any:			
138	URINAL SCREENS 24 BLOCKS	1,690 EACH	.969 1666	1637.89
	Packaging: 12 MFG/Brand: 51G 5 INDUSTRIES Product No: USCD Variances, if any:		<u> </u>	J.,
MISC	ELLANEOUS SUPPLIES			i
139	LOOSE GRANULAR ABSORBENT FOR PETROLEUM-BASED OILS, GREASES AND OTHER LIKE LIQUID SPILLS, UNSCENTED, NON-FLAMMABLE WHEN USED WITH PETROLEUM-BASED OILS, MEETS OSHA STANDARDS 36 LBS/32QT/BAG	15,400 LB(S)	.3858	5941.32
	Packaging: 50 LD MFG/Brand: BANNER CHEMICAL Product No: PCODSO Variances, if any:			

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-23-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
140	ICE MELTING PELLETS 50 LB. BAGS	75,000 LB(S)	.3972	29790.00
	Packaging: MFG/Brand: Product No: Variances, if any: SO LB NJLAZZO INDUSTRIES DOWSOBAG Variances			
141	WET FLOOR SIGNS - YELLOW, POLYPROPYLENE, 25" HIGH, 2 SIDED, FOLDING * THIS ITEM MUST BE APPROVED FOR UN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED. Packaging: MFG/Brand:	10 EACH USE	10.39	07.80)
	MFG/Brand: Product No: Variances, if any:			
142	PLASTIC SYPHON DRUM PUMP, HEAVY DUTY, MUST FIT 55 GAL DRUM W/2" OPENING * THIS ITEM MUST BE APPROV FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED. Packaging: MFG/Brand: Product No: Variances, if any:	6 EACH		
143	32 OZ. SILK SCREENED PLASTIC SPRAY BOTTLE WITH SPRAYER, CLEAR OR WHITE (EMPTY) FOR USE WITH KAIBOSH PRODUCTS (OR EQUIVALENT)	300 EACH		
	Packaging: ————————————————————————————————————	* THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.		
144	32 OZ. PLASTIC SPRAY BOTTLE WITH SPRAYER, YELLOW (EMPTY) * THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.	130 EACH		
	Packaging: MFG/Brand: Product No: Variances, if any:			
145	SPRAY NOZZLE TO FIT 32 OZ. PLASTIC SPRAY BOTTLE (ABOVE ITEM #145 AND #144) - COLOR: RED * THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED	350 EACH		·

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-23-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:			
146	SPRAY NOZZLE TO FIT 32 OZ. PLASTIC SPRAY BOTTLE (ABOVE ITEM #144) - COLOR: GREEN * THIS ITEM MUST BE AI FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED. Packaging: MFG/Brand: Product No: Variances, if any:	, 		
147	SPRAY NOZZLE TO FIT 32 OZ. PLASTIC SPRAY BOTTLE (ABOVE ITEM #143 AND #144) - COLOR: BLUE* THIS ITEM MU APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTE Packaging: MFG/Brand: Product No: Variances, if any:			
148	SPRAY NOZZLE TO FIT 32 OZ. PLASTIC SPRAY BOTTLE (ABOVE ITEM #143 AND #144) - COLOR: WHITE OR CLEAR	260 EACH		
	Packaging: MFG/Brand: Product No: Variances, if any:	FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET		
149	SPRAY NOZZLE TO FIT 32 OZ. PLASTIC SPRAY BOTTLE (ABOVE ITEM #143 AND #144) - COLOR: YELLOW	10 EACH		
	Packaging: MFG/Brand: Product No: Variances, if any:	* THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.		
150	WHITE FOAM COFFEE CUPS, 8 OZ. 1000/CASE	1,000 CUP(S)	,05617	56.17

REQUEST FOR BID

---- This Is Not An Order -----



RFB# F-23-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEMA	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:			
151	TWO-PLY POLY TWINE, 10 LB., NYLON	8 ROLL(S)		
	Packaging: MFG/Brand: Product No: Variances, if any:			
WAST	E AND RECYCLING CONTAINERS			
152	32 GALLON CONTAINER WITH LID, GRAY	20 EACH		
	Packaging: MFG/Brand: Product No: Variances, if any:			
153	32 GALLON CONTAINER WITH LID, WHITE	10 EACH		
	Packaging: MFG/Brand: Product No: Variances, if any:			
154	RUBBERMAID (OR EQUIVALENT) WASTE BASKETS, 14.25" X 10.5" X 15", BLACK, MUST BE FLAME RETARDANT	36 EACH	47.81	1721.14
	Packaging: MFG/Brand: PUSPZLIATD Product No: FG12SU3COGLAY Variances, if any:	* THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.		
155	13 QT. WASTE BASKET	75 EACH	5.20	390.00

REQUEST FOR BID

---- This Is Not An Order -----



RFB# F-23-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:			
156	28 1/2 QT. WASTE BASKET	75 EACH	6.70	502.50
	Packaging: MFG/Brand: Product No: Variances, if any:	• • •		
157	20 GALLON WHEELED TRASH CAN WITH LID	20 EACH		
	Packaging: MFG/Brand: Product No: Variances, if any:			
158	RUBBERMAID (OR EQUIVALENT) 20 GALLON TRASH CAN WITH LID, NO WHEELS	20 EACH		
	Packaging: MFG/Brand: Product No: Variances, if any:			
159	55 GALLON ROUND WASTE CONTAINER, GRAY, NO WHEELS, FLAME RETARDANT	32 EACH		
	Packaging: MFG/Brand: Product No: Variances, if any:	* THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.		
ENVIŖ	ROX BRAND PRODUCTS	5 ₄₁	,	
161	ENVIROX H2 ORANGE2 CONCENTRATE 117, SANITIZER/VIRUCIDE CLEANER 4 GAL/CASE	200 GAL(S)	33.6525	6730.50

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-23-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

FURNISH AND DELIVER JANITORIAL AND PAPER SUPPLIES FOR VARIOUS COUNTY DEPARTMENTS FOR THE PERIOD JANUARY 1, 2023 THROUGH DECEMBER 31, 2023

ITEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: — MFG/Brand: — Product No: — Variances, if any	4 - 128 02 EMUZROX 110413			
162		ANGE2 CONCENTRATE 117, CIDE CLEANER - BULK	57 GAL(S)		
	Packaging: — MFG/Brand: — Product No: — Variances, if any	<i>i</i> :	* THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.		
163		NT DISPENSING SYSTEM D/ BI-LINGUAL SUPPORT MATERIALS .	10 EACH	133.33	1333,30
,	Packaging: — MFG/Brand: — Product No: — Variances, if any	(ENVIROX 4252117	— — —		
164	ENVIROX H2GO F WITH H2ORANGE	PORTABLE DISPENSER FOR USE 22 117	10 EACH		
	Packaging: — MFG/Brand: — Product No: — Variances, if any	· · · · · · · · · · · · · · · · · · ·			
165		R CODED) GREEN LABEL, EMPTY OR USE OF #117 H2ORANGE2, 32 OZ	350 EACH		
	Packaging: — MFG/Brand: — Product No: — Variances, if any	· · · · · · · · · · · · · · · · · · ·	* THIS ITEM MUST BE APPROVED FOR USE IN A CORRECTIONAL INSTITUTION - PLEASE INCLUDE A PRODUCT SPEC SHEET. SAMPLES MAY BE REQUESTED.		
166	BOTTLE FOR USE CAPACITY * THIS ITEM MUST I	R CODED) RED LABEL, EMPTY SPRAY E OF #117 H2ORANGE2, 32 OZ BE APPROVED FOR USE IN A CORRECTIONAL ASE INCLUDE A PRODUCT SPEC SHEET.	350 EACH		

SAMPLES MAY BE REQUESTED.

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-23-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER JANITORIAL AND PAPER SUPPLIES FOR VARIOUS COUNTY DEPARTMENTS FOR THE PERIOD JANUARY 1, 2023 THROUGH DECEMBER 31, 2023

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
Packaging: MFG/Brand: Product No: Variances, if				
ALL ITEMS MUST B	E BID IN THE UNIT OF MEASURE	TOTAL	245749	. is

****SEE ATTACHED SPECIFICATIONS**** ALL INQUIRIES MUST BE SUBMITTED IN WRITING TO: FORMALBIDQUESTIONS@CO.MONMOUTH.NJ.

Various Delivery Locations:

Division of Highway **Public Works Complex** 250 Center Street Freehold, NJ 07728 Cassandra Deckle 732-431-6550

Buildings & Grounds/Trades Special Services Complex 300 Halls Mill Road Freehold, NJ 07728 Karen Retzer 732-431-7360 x2136

Division of Fleet Services Public Works Complex 250 Center Street Freehold, NJ 07728 Joe Ponisi - x7165 or Kyle Dodig - x7164 732-431-7830

Sheriff's Office - Correctional Institution P.O. Box 5007 1 Waterworks Road Freehold, NJ 07728 Jeff Sauter 732-431-7860 x1203